

9.2

① $f(x) = \sqrt{1+x^2}$; $x=0$

$$\begin{aligned}
 g(x) &= \sqrt{1+x} = (1+x)^{\frac{1}{2}} \\
 g'(x) &= \frac{1}{2}(1+x)^{-\frac{1}{2}} \\
 g''(x) &= \frac{-1}{4}(1+x)^{-\frac{3}{2}} \\
 g'''(x) &= \frac{+3}{8}(1+x)^{-\frac{5}{2}} \\
 g^{(4)}(x) &= \frac{-15}{16}(1+x)^{-\frac{7}{2}}
 \end{aligned}$$

$$\begin{aligned}
 g(0) &= 1 \\
 g'(0) &= \frac{1}{2} \\
 g''(0) &= \frac{-1}{4} \\
 g'''(0) &= \frac{+3}{8} \\
 g^{(4)}(0) &= \frac{-15}{16}
 \end{aligned}$$

$$\begin{aligned}
 & \frac{2k!}{k!} \\
 & (2k+1)! \\
 & k!
 \end{aligned}$$

$$1 + \frac{1}{2}x - \frac{1}{4}x^2 + \frac{3}{8}x^3 - \frac{15}{16}x^4$$

$$1 + \frac{1}{2}(\cancel{x})^2 - \frac{1}{4}(\cancel{x})^2 + \frac{3}{8}(\cancel{x})^3 - \frac{15}{16}(\cancel{x})^4$$

$$\boxed{P_4(x) = 1 + \frac{1}{2}x^2 - \frac{1}{8}x^4 + \frac{1}{16}x^6 - \frac{5}{128}x^8}$$

$$1 + \sum_{k=0}^{\infty} \frac{(-1)^{k+1} \binom{2k+1}{2k}}{k!} x^{2k} = \frac{(2x)^{2k}}{2^{2k} x^{2k}}$$

② $e^{x/2}$; $x=0$

$$\begin{aligned}
 \frac{1}{2}e^{x/2} \\
 \frac{1}{4}e^{x/2} \\
 \frac{1}{4}e
 \end{aligned}$$

$$\begin{aligned}
 e^{0/2} &= 1 \\
 \frac{1}{2}e^{0/2} &= \frac{1}{2} \\
 \frac{1}{4}e^{0/2} &= \frac{1}{4}
 \end{aligned}$$

$$P_2(x) = 1 + \frac{1}{2}x + \frac{1}{4}x^2 + \dots + \frac{1}{2^k k!} x^k + \dots$$

$$P_2(x) = 1 + \frac{1}{2}x + \frac{1}{8}x^2 + \dots + \frac{1}{2^k k!} x^k + \dots$$

(b) $\frac{e^{x/2} - 1}{x}$

$$\frac{x^6}{x^2} = x^4$$

9.2

(b)

e^x	$e^0 = 1$	0	1	2	3	
e^x	$e^0 = 1$	1	x	$\frac{x^2}{2!}$	$\frac{x^3}{3!}$	$+$
e^x	$e^0 = 1$			$\frac{1}{x}$	$\frac{1}{x}$	$\frac{1}{k!} x^k + \dots$

(c)

$$\frac{e^x - 1}{x} = 1 + \frac{x}{2} + \frac{x^2}{6} + \dots + \frac{1}{k!} x^{k-1} + \dots$$

$$\frac{1}{(k+1)!} x^k$$

(c)

 ~~$g'(x) = \frac{e^x - 1}{x}$~~

$$g(x) = \frac{e^x - 1}{x}$$

$$g'(x) = \frac{e^x \cdot x - (e^x - 1)}{x^2}$$

$$g'(1) = \frac{e^1 \cdot 1 - (e^1 - 1)}{1^2} = 1$$

$$\frac{d}{dx} \frac{1}{(n+1)!} x^n = \frac{n}{(n+1)!} x^{n-1}$$

$$\sum_{n=1}^{\infty} \frac{n}{(n+1)!} = 1$$

(27) (a) $P_3(x) = 1 + \frac{1}{2}x^2 - \frac{1}{8}x^4 + \frac{1}{16}x^6$

$$\int P_3(x) = x + \frac{1}{6}x^3 - \frac{1}{40}x^5 + \frac{1}{112}x^7 + 5$$